Paper: B.E_B.Tech

Set Name: |SET 30

Exam Date: | 30 July 2022

Exam Shift: | 2

Langauge: | Hindi

Topic: Physics-Section A
Item No: 1

Question ID: 15477154561
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 2

Question ID: 15477154562

Question Type: | MCQ
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Topic: Physics-Section A

Item No: 3

Question ID: 15477154563

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 4
Question ID: 15477154564
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 5

Question ID: 15477154565

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 6
Question ID: 15477154566




Question Type:

MCQ
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Topic: Physics-Section A
Item No: 7
Question ID: 15477154567
Question Type: | MCQ
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Topic: Physics-Section A

Iltem No:
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Question ID:

15477154568

Question Type:

MCQ
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Topic: Physics-Section A
Item No: 9
Question ID: 15477154569
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 10
Question ID: 154771545610
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 11
Question ID: 154771545611
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 12
Question ID: 154771545612
Question Type: | MCQ
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Question: ; I )
=10 sin (100t + %)Amﬁaﬂﬁ%l
gfeay o &fdd e g

A 2500 W

B: 625 W

C: 1250 W

D: 62542 W

Topic: Physics-Section A

Item No:

13




Question ID:

154771545613

Question Type:

MCQ
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Topic: Physics-Section A
Item No: 14
Question ID: | 154771545614
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 15
Question ID: 154771545615
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 16
Question ID: 154771545616
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 17
Question ID: | 154771545617
Question Type: | MCQ
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Topic: Physics-Section A




Item No: 18
Question ID: 154771545618
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 19
Question ID: 154771545619
Question Type: | MCQ
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Topic: Physics-Section A
Item No: 20
Question ID: 154771545620
Question Type: | MCQ
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Topic: Physics-Section B

Item No: 21

Question ID: | 154771545621

Question Type:

Numeric Answer
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Topic: Physics-Section B
Iltem No: 22
Question ID: | 154771545622

Question Type:

Numeric Answer
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Topic: Physics-Section B

Item No: 23

Question ID: 154771545623

Question Type:

Numeric Answer
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Topic: Physics-Section B

Item No: 24

Question ID: | 154771545624

Question Type:

Numeric Answer
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Topic: Physics-Section B

Iltem No: 25

Question ID: 154771545625

Question Type:

Numeric Answer
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Topic: Physics-Section B
Item No: 26
Question ID: 154771545626

Question Type:

Numeric Answer
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Topic: Physics-Section B
Item No: 27
Question ID: 154771545627

Question Type:

Numeric Answer
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Topic: Physics-Section B
Item No: 28
Question ID: 154771545628

Question Type:

Numeric Answer
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Topic: Physics-Section B

Item No: 29

Question ID: 154771545629

Question Type:

Numeric Answer
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Topic: Physics-Section B

Item No: 30

Question ID: 154771545630

Question Type:

Numeric Answer
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Topic: Chemistry-Section A

Item No: 31

Question ID: 154771545631




Question Type:

MCQ
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Topic: Chemistry-Section A

Item No: 32

Question ID: 154771545632

Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 33
Question ID: 154771545633
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 34

Question ID: 154771545634
Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 35

Question ID: 154771545635

Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 36

Question ID: 154771545636

Question Type: | MCQ
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Question: B. Uh Ta fafy 1. Ui
C. Bld-gle UhH 111, Zn$ 1 TG
D. {18 UHH IV Au & (emy
i fau faeedl § 9 981 SR &1 g |
A: A-IV, B-TII, C-II, D-I
B: A-I, B-II, C-TII, D-IV
C: A-II, B-II, C-IV, D-I
D: A-IIL B-II, C-IV, D-I
Topic: Chemistry-Section A
Item No: 37

Question ID: 154771545637

Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 38

Question ID: 154771545638

Question Type: | MCQ
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KF >KI

B: SnCly > SnCl,
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Topic: Chemistry-Section A

Iltem No: 39

Question ID: | 154771545639

Question Type: | MCQ
E° (vol) FAME
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A: AP >8c3 > Fe > Hg, 2"

B: ngz*}F33*> Scit > APT

C: ngk > Pt > AP > 83T




D: ST AP >Fd > ngz_
Topic: Chemistry-Section A

Iltem No: 40

Question ID: 154771545640

Question Type: | MCQ

1 T I R 3FHTeb g Co®™ WPl o 1, T H FIaeH| 1 S H: 511 (Fear
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Topic: Chemistry-Section A
Item No: 41
Question ID: 154771545641
Question Type: | MCQ
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Topic: Chemistry-Section A

Item No: 42

Question ID: 154771545642

Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No: 43

Question ID: 154771545643




Question Type: | MCQ
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S
Topic: Chemistry-Section A
Item No: 44
Question ID: 154771545644
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 45
Question ID: 154771545645
Question Type: | MCQ
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A: (1) Mg (11) CO,. dry ether (11) H,O
B: (1) NaOH (1) C,H;OH (111) HCI
C: (1) NaCN (11) H,O (u1) HCl
D: (1) KMnO, (11) HCI
Topic: Chemistry-Section A
Item No: 46
Question ID: 154771545646
Question Type: | MCQ
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Topic: Chemistry-Section A
Item No: 47
Question ID: 154771545647
Question Type: | MCQ
N, CI° NiIBE; : NO,
O
. Cu A
Question: [ﬂH@ G?:ﬂa]
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B: X=HBF, Y=NaNO,
X=HBF, Y=HNO;
D: XZBF3 YZNﬁNGZ
Topic: Chemistry-Section A
ltem No: 48
Question ID: 154771545648
Question Type: | MCQ
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Topic: Chemistry-Section A
Iltem No: 49
Question ID: 154771545649
Question Type: | MCQ
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Topic: Chemistry-Section A

Iltem No:
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Question ID:

154771545650

Question Type:

MCQ
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Topic: Chemistry-Section B

Item No: 51

Question ID: 154771545651

Question Type:

Numeric Answer
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Topic: Chemistry-Section B

Item No: 52

Question ID: | 154771545652

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
Item No: 53
Question ID: 154771545653

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
Item No: 54
Question ID: 154771545654




Question Type:

Numeric Answer

0.1 M CH;COOH @& 50 mL @1 S-[H19 0.1 M NaOH faerg ¥ faan mar g | o™
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Topic: Chemistry-Section B
Item No: 55
Question ID: 154771545655

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
Item No: 56
Question ID: 154771545656
Question Type: | Numeric Answer
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Topic: Chemistry-Section B

Item No: 57

Question ID: 154771545657

Question Type:

Numeric Answer
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Topic: Chemistry-Section B

Item No:
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Question ID:

154771545658

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
Iltem No: 59
Question ID: 154771545659

Question Type:

Numeric Answer
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Topic: Chemistry-Section B
Item No: 60
Question ID: 154771545660

Question Type:

Numeric Answer
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Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545661
Question Type: | MCQ
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Topic:

Mathematics-Section A

Item No: 62
Question ID: 154771545662
Question Type: | MCQ
HiHlzy=1+2i,z,=2+1, l+l=E Ul z= m“- % I
= Zl 22 W —-W
ol Dy
Question: (Sy) 2= .-
J17
s o f5)
(S,) arg(z)+arg(w) = tan | 3 ‘
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A (Sy) qUT (S,) ST T &
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ofe s vHieR Fom

Question:

Ixty—z=-1
x—y—3z=2
—x+y+z=u

& 3 e e, al [6g3ll (+ 2u, 20+ ) TUT (1) Y BIBR O GTEH @1 Pl
JHIER §

4x —6y=-5

2x—2y=275
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14 U HTE ¢ Ul [1 Q]A[z O]:[ O]%‘ | afe feurdiy gt
Question: 0 1 -1 1 01
ax® +bx+3 =00 o |4 GYT 42 8. Ta+b—ab REX §
A: =34
B: 50
C: -390
D: 438
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Question: n & FH AL, fod forg ”‘1C4-”‘1C3—§ n2p <0 B.PIUATE

A: 40

B 45

C: 53

D 56
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Question: I (200w 2l + 2P e (P (1 5 e Y
' X101 7 T[T §

A i

B: E{JEEC i (2)1011

C: EGEBle 2 (2)1011
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Question: 2 S M %’
= (m+I)
A 2(e+7)
B: 2e+1
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